YC/IOBHBIE OBO3HAYEHNA
LEGEND

1) Ecnmm Bam BcTpermnach 6ykBennas cxema — RLRL, RRRR, LRLR, LLLL, — 10 oHa 0603Hauaer,
C KaKOll PyKu HeoOXOIMMO Ha4MHATh MCIIOMHATD TaKT.
If you see the scheme RLRL, RRRR, LRLR, LLLL, you need to understand it as the hand for

repetition of the beat.

Hanpumep, 2. Al.
For example, 2. Al.
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2) Ecmm Bam BeTpermnach mudposas cxema — 4-2-1-1 (8-4-2-1-1), — TO KaXIbIil TaKT HAO KC-
IIOJIHSATD CHavyasa 1o 4 pasa, 3areM 1o 2 u 1o 1 pasy. ITo 1 pasy Heob6xopumo mpoiitu iBa Kpyra. Tak-
Ke BbI MOYKeTe Ha4MHATh CXeMy He ¢ 4 pas, a ¢ 8. Ec/in B TakTe yKasaHbl [Be alllIMKATYpPbl, 9TO O3Ha-
YaeT, YTO IPY ero IOBTOPEHNUN aIIIMKATypa MEHSeTCs.

If you see the scheme 4-2-1-1 (8-4-2-1-1), you need to play every beat 4 times first, then 2 times
and 1 time. 1 time needs to be repeated twice for every beat. You can also start the scheme not with 4,
but with 8. If you see two stickings under the beat, you need to change sticking after repetition

of the beat.

Hanpumep, 8. Al.
For example, 8. Al.
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3) Ecnn 110, TAKTOM MMCEITCA CKO6KI/I, 9TO 3HAYNUT, YTO Bbl MOJKXETC 3aMCHUTDb TAaKT OJHUM U3

BapMAHTOB, JAHHBIX B CKOOKAX.

If you see brackets under the beat, it means you can choose phrase from there and change the beat.

4) (L) Bosjie TakTa O3HAYaeT, YTO YIpaKHEHNe HeoOXOMUMO UTpaTh TAKKe C JIEBOM PYKIU.
(L) near the beat means you need to play exercise also from the left hand.

5) WUrpaiite 4-2-1-1 (8-4-2-1-1) ¢ MHO>KeCTBEHHBIM) IIOBTOPEHMUAMI.
Play 4-2-1-1 (8-4-2-1-1) with the reps.





